2x—xy+2-y, (x—1)*—4(x—1)-12

.ox+1
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2x—xy+2-y=x2-y)+(2-y)=(x+1)(2-y)

(x-1)2%-4(x-1)-12

{(x-1)-6} {(x-1)+2}

= (x=T)(x+1)

wetd 5 A9 FEe A4 v+ 1 olek.
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© 2x2-5x-12

@ 2-x-12

® 2x+3

@ x-3

® x+3

@ 2x-3

(x=4)(x+3)

@ x2-x-12

(2x+3)(x—4)

© 2x%2-b5x-12




3. ohe A - 648 QSR

@ (a+8)(a-3) ® (a+32)(a-2)
® (a+32)(a-32) @ (a+8)(a+8)

® (a+16)(a—4)

‘ a’>-64 =a*-8%= (a+8)(a-28)




4.  ax®+24x+b= (3x+c)* L W, A= a, b, ¢ o F2 A= F5HH?

D a=9,b=16, c= -4 @ a=9,b=8,c=14
®a=9,b=16, c=2 @a:g,b:16,c:4

® a=3,b=-8 c=4

B ~

(3x +¢)? = 9x% + 6cx + 2

a=9
6c=24, c=4
b=¢c2, b=16

La=9 b=16, c=14
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x2
+7x+102

@ 3x+2

@
2x+5
®
2x
+7

x? +10=(x+5)(x+

+ Tx

10

- (x+5

x+ +(x+2)——)2( +2)
e T




@ 4x* -1

@ 2x2+9x-5

O 2x%2-5x+2

®)6x2+x-1

@ 4x> +4x-3
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@® 323+ x2—x=x(3x> +x-1)
@ -x*+25=(5+x)(5-x)

@ x> +8x+12=(x+2)(x+6)
@36x2+24xy+4y2:(6x—2y)2

® 6x2+5x+1=(2x+1)(3x+1)

@ 36x2 + 24xy + 4y? = 4(9x? + 6xy + ¥?)
=4(3x +y)°




